
02.08.2024 - Rev.1 1/36

VEN

925 mm

 680 mm 

660 mm

 1355 m
m

 

 
m

m 057 

1780 mm

 
m

m 034 

 560 m
m

 

3725096 
87865001



2/36

GB IMPORTANT, RETAIN FOR FUTURE REFERENCE: 
READ CAREFULLY.

DK VIGTIGT, GEMMES TIL SENERE BRUG: LÆS 
OMHYGGELIGT.

DE WICHTIG, FÜR SPÄTERE BEZUGNAHME 
AUFBEWAHREN: SORGFÄLTIG LESEN.

NO VIKTIG. MÅ OPPBEVARES FOR SENERE BRUK: 
MÅ LESES NØYE.

SE VIKTIGT – SPARAS FÖR FRAMTIDA BRUK: LÄS 
NOGA.

FI TÄRKEÄÄ, SÄILYTÄ MYÖHEMPÄÄ TARVETTA 
VARTEN: LUE HUOLELLISESTI.

PL

CZ

HU
OLVASSA EL FIGYELMESEN.

NL
GEBRUIK: ZORGVULDIG LEZEN.

SK

FR IMPORTANT, À CONSERVER POUR TOUTE 

ATTENTIVEMENT.
SI

UPORABO: POZORNO PREBERITE.
HR



3/36

IT IMPORTANTE, CONSERVARE PER  
CONSULTAZIONI FUTURE: LEGGERE 
ATTENTAMENTE.

ES IMPORTANTE: CONSERVAR PARA FUTURAS 
CONSULTAS Y LEER DETENIDAMENTE.

BA

RS

UA

RO

BG

GR

PT IMPORTANTE, CONSERVE PARA REFERÊNCIA 
FUTURA: LEIA COM ATENÇÃO .

RU

TR

CN 
   .      AR



4/36

GB Domestic use.

DK Husholdningsbrug.

DE Nutzung im Wohnbereich.

NO Privat bruk.

SE Hemmabruk.

FI Kotikäyttöön.

PL

CZ

HU

NL Thuisgebruik.

SK

FR Pour la maison.

SI

HR

IT Uso domestico.

ES

BA

RS

UA

RO Pentru uz casnic.

BG

GR

PT

RU

TR

CN

.      AR



5/36

GB WARNING TO AVOID SCRATCHES!
 In order to avoid scratching this furniture should be assembled on a soft layer - could be a rug.
DK ADVARSEL FOR AT FORHINDRE RIDSER!

DE HINWEIS ZUR VERMEIDUNG VON KRATZERN!

NO ADVARSEL FOR Å UNNGÅ RIPER!

SE VARNING OM HUR DU UNDVIKER REPOR!

FI VARO NAARMUJA!

PL 

CZ VAROVÁNÍ TÝKAJÍCÍ SE POŠKRÁBÁNÍ!

HU 

NL WAARSCHUWING OM KRASSEN TE VERMIJDEN!

SK VÝSTRAHA TÝKAJÚCA SA PREDCHÁDZANIA ŠKRABANCOM!

FR

SI

HR UPOZORENJE O IZBJEGAVANJU OGREBOTINA!

IT AVVERTENZA PER EVITARE I GRAFFI!

ES

BA

RS UPOZORENJE ZA IZBEGAVANJE OGREBOTINA!

UA

RO 

BG

GR

PT AVISO PARA EVITAR RISCOS!

RU

TR

CN 
 

AR

     

!  

.



6/36

GB IMPORTANT!

DK VIGTIGT!

stabilt i hele dets levetid.
DE WICHTIG!

NO VIKTIG!

SE VIKTIGT!

FI TÄRKEÄÄ!

PL

CZ 

HU FONTOS!

NL BELANGRIJK!

SK

FR IMPORTANT!

cycle de vie.
SI POMEMBNO!

HR 

IT IMPORTANTE!

ES IMPORTANTE!

BA 

RS 

UA 

RO IMPORTANT!

BG 

GR 

PT AVISO IMPORTANTE!

RU 

TR 

CN 

AR!
. 3

2 3



7/36

GB WARNING FOR SEATING FURNITURE!

DK ADVARSEL VEDRØRENDE SIDDEMØBLER!

DE 

NO ADVARSEL FOR SITTEMØBEL!

SE 

FI ISTUINHUONEKALUA KOSKEVA VAROITUS!
Testattu 110 kg:lle istuinta kohden.

PL 

CZ 

HU 

NL WAARSCHUWING VOOR ZITMEUBILAIR!

SK 

FR AVERTISSEMENT POUR LE MOBILIER D'ASSISE!

SI 

HR UPOZORENJE O NAMJEŠTAJU ZA SJEDENJE!

IT AVVERTENZA PER SEDUTE D'ARREDO!

ES ¡ADVERTENCIA PARA ASIENTOS!

BA UPOZORENJE ZA NAMJEŠTAJ ZA SJEDENJE!

RS UPOZORENJE VEZANO ZA NAMEŠTAJ ZA SEDENJE!

UA 

RO 

BG 

GR 

PT AVISO PARA CADEIRAS!

RU 

TR 

CN

AR!
. 110

 110 kg.



8/36

GB OILING OF OUTDOOR WOODEN PRODUCTS:

 Do not use detergents, solvents or other chemicals on oiled surfaces.

DK OLIERING AF UDENDØRS TRÆPRODUKTER:

DE

Holzölanstrich gibst.
 Reinige das Produkt, bevor du das Öl aufträgst. Stelle sicher, dass das Produkt vollständig trocken ist.

NO OLJEBEHANDLING AV UTENDØRS TREPRODUKTER:

SE OLJEBEHANDLING AV UTOMHUS TRÄPRODUKTER:

FI

PL

CZ

HU FA KERTI BÚTOROK OLAJOZÁSA:

NL OLIËN VAN HOUTEN BUITENPRODUCTEN:

SK

FR

SI OLJENJE LESENIH IZDELKOV ZA ZUNANJOST:

HR PREMAZIVANJE ULJEM DRVENIH PROIZVODA ZA VANJSKI PROSTOR:

IT OLIARE ARTICOLI DA ESTERNO IN LEGNO:

volte all'anno.



9/36

ES 

BA NANOŠENJE ULJA ZA DRVO NA DRVENE PROIZVODE ZA SPOLJAŠNJI PROSTOR:

RS NANOŠENJE ULJA ZA DRVO NA DRVENE PROIZVODE ZA SPOLJAŠNJI PROSTOR:

UA

RO

BG

GR

PT UTILIZAÇÃO DE ÓLEO EM PRODUTOS DE MADEIRA PARA JARDIM:

RU

TR

CN 

AR:
.

.
.

.



10/36

GB GENERAL INSTRUCTION FOR FURNITURE WITH FABRIC!

Do not use detergents, solvents or other chemicals on fabric as this may cause discoloration.

DK GENEREL VEJLEDNING TIL MØBLER MED STOF!
 Rengøres med en fugtig klud. Anvend kun rent vand.
 Støv og snavs støvsuges eller tørres af med en ren blød klud.

DE 

NO GENERELL INSTRUKSJON FOR MØBLER MED STOFF!
 Tørk av med en fuktig klut. Bruk bare rent vann.
 Støv og smuss kan støvsuges eller tørkes av med en ren, myk klut.

SE 
 Torka rent med en fuktig trasa. Använd endast rent vatten.

FI 

PL 

CZ 

HU 

NL ALGEMENE INSTRUCTIE VOOR MEUBELEN MET STOF!

SK 

FR 

SI SPLOŠNA NAVODILA ZA POHIŠTVO S TKANINO!

HR 

IT ISTRUZIONI GENERALI PER MOBILI CON TESSUTO!

ES INSTRUCCIONES GENERALES PARA MOBILIARIO CON TEJIDO!



11/36           

BA OPŠTA UPUTSTVA ZA NAMJEŠTAJ OD TKANINE!

RS OPŠTA UPUTSTVA ZA NAMEŠTAJ SA TKANINOM!

UA 

RO 

BG 

GR 

PT INSTRUÇÕES GERAIS DE CUIDADO PARA MÓVEIS ESTOFADOS!

RU 

TR 

CN 

AR

 
 

 
 

!
.

.
.

.



12/36

GB 

DK

DE 

Wetterbedingungen es erfordern.
NO

SE

FI

PL

CZ

HU 

megkövetelik.
NL

dit vereisen.
SK

vetranom mieste.
FR

SI

HR

IT

le condizioni metereologiche lo richiedano.
ES 

BA 

RS

UA

RO 

BG 



13/36



14/36

A x 4 B x 16 C x 29

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

D x 8

H x 16

48x48x63 mm4 mm4 mmØ6/Ø16 mm

G x 2F x 1E x 41

55x34x32 mm

J x 2



15/36

2

1

3

6

7

5

9

8

15

11

4

10

5

9

13

12

14

x2

x3

4



1 x2 2

4 x2 5 x2

15

12
14

11

13

7

6

8

3

9 x4

BOX 1/2:

BOX 2/2:

550x705x115 mm560x370x85 mm 820x560x140 mm 812x550x28 mm

580x520x140 mm 1680x705x125 mm 1680x505x295 mm

526x80x20 mm 1120x505x60 mm 1170x620x60 mm

570x545x60 mm 570x545x60 mm 550x505x295 mm

550x505x60 mm 660x620x285 mm

16/36

10



80%2

1

1

80%

M6x40 mm

C x 4

Ø6/Ø16 mm

E x 4

4 mm

F x 1

E

C

F

C

E

F x 1

4 mm

E x 4

Ø6/Ø16 mm

C x 4

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCBA

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

17/36

1

2



3

80%

M6x15 mm

D x 4

Ø6/Ø16 mm

E x 4

4 mm

F x 1

E

D

F x 1

4 mm

H x 4

48x48x63 mm

B x 4

M6x55 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

A

18/36

3

4

B

H



19/36

100%

F x 1

4 mm

5

6

x12



M6x55 mm

B x 4

48x48x63 mm

H x 4

4 mm

F x 1

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

20/36

7

15

B

H



80%

M6x70 mm

A x 1

Ø6/Ø16 mm

E x 1

4 mm

F x 1

F x 1

4 mm

C x 1

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

A

21/36

8

9

Ø6/Ø16 mm

E x 1

6

E

A

4

C

E

80%



80%

M6x70 mm

A x 1

Ø6/Ø16 mm

E x 1

4 mm

F x 1

F x 1

4 mm

C x 1

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

A

22/36

10

11
Ø6/Ø16 mm

E x 1

5

80%



80%

M6x40 mm

C x 2

Ø6/Ø16 mm

E x 2

4 mm

F x 1

F x 1

4 mm

C x 4

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

A

23/36

12

13
Ø6/Ø16 mm

E x 4

7

E C

CE

80%



80%

M6x40 mm

C x 2

Ø6/Ø16 mm

E x 2

4 mm

F x 1

F x 1

4 mm

B x 4

M6x55 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

A

24/36

14

15

E

C

B

H

48x48x63 mm

H x 4



100%

F x 1

4 mm

25/36

16

17

x2



4 mm

F x 1

26/36

18

19

100%

x10

9

8



80%

80%

M6x70 mm

A x 1

Ø6/Ø16 mm

E x 1

4 mm

F x 1

F x 1

4 mm

E x 1

Ø6/Ø16 mm

C x 1

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCBA

M6x15 mmM6x40 mmM6x55 mmM6x70 mm

27/36

20

21

E

A

4
10

C
E



80%

80%

M6x70 mm

A x 1

Ø6/Ø16 mm

E x 1

4 mm

F x 1

F x 1

4 mm

E x 1

Ø6/Ø16 mm

C x 1

M6x40 mm

M6x70 mm M6x55 mm M6x40 mm M6x15 mm

A B C D

DCB

M6x15 mmM6x40 mmM6x55 mm

28/36

22

23

E

A

C

E

5



80%

80%

11

M6x40 mm

C x 2

Ø6/Ø16 mm

E x 2

4 mm

F x 1

F x 1

4 mm

E x 4

Ø6/Ø16 mm

C x 4

M6x40 mm

M6x55 mm M6x40 mm M6x15 mm

B C D

DCB

M6x15 mmM6x40 mmM6x55 mm

CE

E C

29/36

24

25



80%

80%E

D

M6x40 mm

C x 3

Ø6/Ø16 mm

E x 3

4 mm

F x 1

F x 1

4 mm

E x 4

Ø6/Ø16 mm

D x 4

M6x15 mm

M6x55 mm M6x40 mm M6x15 mm

B C D

DB

M6x15 mmM6x55 mm

30/36

26

27

E

C

14



28

29

F x 1

4 mmM6x55 mm

B x 4

48x48x63 mm

H x 4

31/36

H

B



GR 

PT

RU

TR

CN

5

100%

100%

4 mm

F x 1

F x 1

4 mm

32/36

30

31

x2

x15



33/36

32

A

34/36

B

35/36

A B



9

9

9

13
12

J x 2

55x34x32 mm

34/36

33

J

x2



12 13

9

9

9

J x 2

55x34x32 mm

35/36

34

J

x2



50 kg

max

35

FR

36/36


